



الف)  $2y^3 + x^2 + 1 = 0$  (معبر برنامی)  $\begin{cases} yg' = -x + 1 \\ yg'' = -x - 1 \end{cases} \Rightarrow yg' = yg'' \Rightarrow y' = y''$   
 مثال نقض  $x=0 \rightarrow yg' = -1 \rightarrow y' = -\frac{1}{y} \rightarrow y = \sqrt{-\frac{1}{y}} \quad \forall x \in \mathbb{R}$   
 تابع  $y_1 = y_2$

ب)  $x^2 + 4y - 2x - 12y + 10 = 0 \rightarrow (4y - 12y + 1) + (x^2 - 2x + 1) = 0$   
 $(4y - 12)^2 + (x - 1)^2 = 0$   
 $4y - 12 = 0 \rightarrow y = 3$  و  $x - 1 = 0 \rightarrow x = 1$

الف)  $x \sin y = y \sin x \rightarrow x \sin y = y \sin 0$   
 $x=0$

ب)  $\sqrt{\frac{x}{y}} + \sqrt{\frac{y}{x}} = 2 \quad \frac{y^2 + x^2}{xy} = 2 \rightarrow y^2 + x^2 = 2xy$   
 $y - 2x + x = 0 \quad (x-y)^2 = 0 \quad x=y$  تابع است

الف)  $\sqrt{\frac{x-1}{x-2}} + \sqrt{\frac{2-x}{x}} = 2 \Rightarrow I) \frac{x-1}{x-2} \geq 0 \quad II) \frac{2-x}{x} \geq 0$   
 $x \leq 1$  و  $0 < x \leq 2$   
 $x \geq 2$  و  $x > 2$

ب)  $\sqrt{x} + \sqrt{y-1} = \sqrt{2} \Rightarrow x \geq 0 \quad y-1 \geq 0 \Rightarrow y \geq 1$

الف)  $y = \frac{\sqrt{x^2 - 4x + 4}}{\sqrt{x - 10x + 14}} \Rightarrow (x-4)(x-1) \geq 0$   
 $(x-1)(x-2) > 0$   
 $x < 1$  و  $2 < x \leq 4$  و  $x > 4$   
 $x \leq 1$  و  $x \geq 2$

الف) (I)  $2x^2 - 5x + 3 > 0 \rightarrow (x-1)(2x-3) > 0$   
 (II)  $3x^2 - \sqrt{x+3} \geq 0 \rightarrow (x-1)(3x-1) = 0$   
 $I \cap II \rightarrow x \leq -\frac{1}{3} \cup x \geq 3$

ب)  $2x^2 - 5x + 3 \geq 0 \rightarrow (x-1)(2x-3) \geq 0$   
 $x \leq -\frac{1}{3} \cup 1 < x < \frac{3}{2} \cup x \geq 3$